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A. 
: ac: 36 / try: 45 / submission: 137
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A. 

•

•
=> 1 == M ?

•
=> == 0 ?



A. 

•

•
=> ???
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A. 

• , .

• ( ), bit (DP) .



A. 

• , .
=> O(N * M)

• ( ), bit (DP) .



B. 
: ac: 0 / try: 7 / submission: 17
: ( )



B. 

•

• (1, 1) (N, M) , 

• ?



B. 

• , 
.

• -1 INFINITY .

• .



B. (1. flow)

• (1, 1) (N, M)
mincut .
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B. (1. flow)

• (1, 1) (N, M)
mincut .
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B. (1. flow)

(2,2)
in

(2,2)
out

Capacity : 1010



B. (1. flow)

(2,2)
in

(2,2)
out

10

-1

7 10
(2,1)

in

(2,1)
out

7

(1,1)
in

(1,1)
out

(1,2)
in

(1,2)
out

INF

INF

INF



B. (1. flow)

• Mincut = MaxFlow

•
.

• O((NM)^3)

• -> TLE

• .
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B. (2. Dijkstra)
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•
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C. 
: ac: 4 / try: 16 / submission: 46
: ( )



C. 

•

•

• X

•



C. 

• K ,

• K

• K .

• X
K



C. 

• K ,

• K .

• ,

• K .



C. 

• K

• K .

• K .



C. 

• K

• K .

• K .

• => Parametric Search



C. 

• K

• K

• O(M * logK)



D. 
: ac: 6 / try: 23 / submission: 63
: ( )



D. 

•



D. 

• 𝑏" .

• 𝑏" = ∑ (−1))× 𝑘 + 1 ×𝑎)./0
)1"

• 𝑏" 𝑏0

• 𝑏0 + 𝑏" = ∑ −1 )×𝑎)./0
)10 + 𝑎" + −1 ./0×𝑛×𝑎"

• 𝑏3 + 𝑏0 = ∑ −1 )×𝑎 )40 %.
./0
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D. 

• 𝑏0 + 𝑏" = ∑ −1 )×𝑎)./0
)10 + 𝑎" + −1 ./0×𝑛×𝑎"

• 𝑏3 + 𝑏0 = ∑ −1 )×𝑎 )40 %.
./0
)10 + 𝑎0 + −1 ./0×𝑛×𝑎0

• …

• 𝑏" + 𝑏./0 = ∑ −1 )×𝑎 )4./0 %.
./0
)10 + 𝑎./0 + −1 ./0×𝑛×𝑎./0

• Dy[i] = ∑ −1 )×𝑎)46./0
)10 .

• Dy[i] (Dy[i] + Dy[i+1])
.



E. 
: ac: 19 / try: 27 / submission: 64
: ( )



E. 

,

K .



E. 

𝑥 ,

𝑥	 	 .

𝑥", 	𝑥0 , 	𝑥"+𝑥0,	𝑥3 , 	𝑥3+𝑥",	𝑥3+𝑥0,	𝑥3+𝑥0 + 𝑥",	𝑥; , …

x .

1, 10, 11, 100, 101, 110, 111, 1000, ...



E. 

1, 10, 11, 100, 101, 110, 111, 1000, ...

x K

K x .



E. 

5 10 ,

10 1010(2)

1010(5) = 130 .



E. 

K

x O(logK) ,

N

O(NlogK) .
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: ac: 0 / try: 1 / submission: 4
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F. 

• N

•

• K X .

•



F. 

• D[subroot][kcnt][xcnt]:
subroot kcnt K

xcnt



F. 

• D[subroot][kcnt][xcnt]:

• subroot ,

• subroot

•

• .



F. 

• D[subroot][kcnt][xcnt]:

• subroot

• K * X ,

• K * X

• N * K2 * X2 



F. 

• D[subroot][kcnt][xcnt]:

• subroot subtree M

•

• for(int k = 1; k <= K; k++)
for(int x = 0; x <= (M – k) / K; x++)



F. 

• D[subroot][kcnt][xcnt]:

• D[subroot][1 ~ K][0 ~ (M – k) / K)]

• M .



F. 

• D[subroot][kcnt][xcnt]:

• subtree M1,

• subtree M2

•

•



G. 
: ac: 25 / try: 44 / submission: 110
: ( )



G. 

•

.
, .

, .
,

.



G. 

•
: Dynamic Programing

maxtable[i][j] : (i<=j) i j

i=j : i
i<j : max(i , maxtable[i+1][j]) 

table[i][j] : 
(i<=j) i j ,

i=j : 0
i<j : i<=k<j k

min(table[i][k]+table[k+1][j]+abs(maxtable[i][k]- maxtable[k+1][j]))

• O(N^2)+O(N^3) = O(N^3)


